
FLOOR SCALES     

RoughDeck® QC-X
4 x 4 Scale

Part Number/Price 
Ref# Part# Description Price
2 173856 Load cell, SEB RL35023-N5-2.5 K, 5 K scale Consult
2 173857 Load cell, SEB RL35082-4 K, 10K scale Consult
3 18756 Foot Consult
4 18411 Shim plate Consult
5 175972 Corner lock knob Consult
6 176519 Safety bar left Consult
7 35088 Screw, cap 1/4-20 NC x 1 hex Consult
8 14634 Nut, lock 1/4-20 NC hex sst Consult
9 175899 Pin: Hinge: 3/8 in dia x 1.53 in long: sst Consult
10 175897 Retaining ring Consult
11 47715 Pin: Hinge: 5/16 in dia x 5 in long: sst Consult
12 175900 Pin: Hinge: 3/8 in dia x 2.56 in long: sst Consult
13 176545 Gas spring Consult
14 176520 Safety bar right Consult
15 47714 Ring, retaining 5/16 shaft Consult
16 47713 Ring, retaining 1/2 in shaft Consult
17 176339 Screw, cap 1/2-20 NF x 2-1/4 Consult
19 176164 Large end fitting Consult

HH

CELL 1

NOTES:

1

  

 THIS LABEL HAS THE WORD DUPLICATE ON IT.

REVISION
REV ECO DESCRIPTION INIT DATE

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 ROUGHDECK QC-X DIAMOND 
PLATE

1

FOOT, FLOOR SCALE, SUREFOOT

MOUNTING PLATE SST

CORNER LOCK KNOB

SAFETY BAR LEFT 1

SST

STYLE SST

11 SST

SST

SAFETY BAR RIGHT 1

SPRING

 REV P/N

DESIGNED BY / DATE

C.BUERGI
PEER APROVAL/ DATE

C.BUERGI

 ESTIMATED WEIGHT (POUNDS)

DIAMOND TREAD TOP PLATE

UNLESS OTHERWISE SPECIFIED
UNITS TO BE INCHES

ALL DIMENSIONS APPLICABLE
AFTER TREATMENT

1 OF 11:6
DO NOT SCALE

SURFACE
DRAWING

DRAWING TOLERANCES
TOLERANCES

UNLESS OTHERWISE SPECIFIED

SEE BOM

DRAWN BY / DATE

C.BUERGI

 SHEET

 THIRD ANGLE PROJECTION

 SCALE

175688

 MATERIAL

 TREATMENT

NONE

 DESCRIPTION

THIS DRAWING AND INFORMATION CONTAINED 
HEREIN, IS AND REMAINS THE PROPERTY OF RICE 

LAKE WEIGHING SYSTEMS INC., HEREINAFTER 
REFERRED TO AS RLWS.  IT MAY BE USED ONLY FOR 

RLWS’ PROPOSAL AND/OR ITS CUSTOMERS’ 
ORDERS.  IT SHALL NOT BE DISCLOSED OR COPIED 
WITHOUT RLWS SPECIFIC WRITTEN CONSENT AND 

SHALL BE IMMEDIATELY RETURNED UPON REQUEST.

FINISH

 MINIMUM CRANE  CAPACITY:

 NUMBER OF CRANES:

±-

±-ANGLE: 
±- .XXX: 

  .XX: 

5

16

4

2 3

17

7

8

14

13

19

10

11

15

9

6

12

Fl
o

o
r S

c
a

le
s

95An ISO 9001 registered company   © 2019 Rice Lake Weighing Systems   01/19  Prices and specifications subject to change without notice. Visit ricelake.com for current prices.



FLOOR SCALES       

RoughDeck® QC-X
 5 x 5 Scale

Part Number/Price 
Ref# Part# Description Price
2 18756 Foot Consult
4 175974 Safety bar left Consult
5 175975 Safety bar right Consult
6 14634 Nut, lock 1/4-20 NC hex sst Consult
7 35088 Screw, cap 1/4-20 NC x 1 hex Consult
8 175900 Pin: Hinge: 3/8 in dia x 2.56 in long: sst Consult
9 175899 Pin: Hinge: 3/8 in dia x 1.53 in long: sst Consult
10 175897 Retaining ring Consult
11 176162 Gas spring Consult
12 176164 Large end fitting Consult
13 173856 Load cell, SEB RL35023-N5-2.5 K, 5 K scale Consult
13 173857 Load cell, SEB RL35082-4 K, 10 K scale Consult
14 176339 Screw, cap 1/2-20 NF x 2-1/4 Consult
15 175972 Corner lock knob Consult
16 47713 Ring, retaining 1/2 in shaft Consult
17 176163 Gas spring Consult
18 47715 Pin: Hinge: 5/16 in dia x 5 in long: sst Consult
19 47714 Ring, retaining 5/16 shaft Consult
20 18411 Shim plate Consult

AA

CELL 1

REV

2

14

13
20

16

15

17

12

8

5

7

6

10

9

19

18 

11

4

Flo
o

r Sc
a

le
s

96 An ISO 9001 registered company   © 2019 Rice Lake Weighing Systems   01/19  Prices and specifications subject to change without notice. Visit ricelake.com for current prices.


